

Summary of Bids Received

Project: Grass Lake Road Drainage

Section: 17-00059-12-ES

Description: Installation of new storm sewer

Bidder	Address	City, State, Zip	Bond	Bid Price	% Over/Under Eng. Estimate	\$ Over/Under Eng. Estimate
Berger Excavating Contractors	1205 Garland Road	Wauconda, IL 60084	Bid Bond	\$128,234.00	-55.08%	
Copenhaver Construction	75 Koppie Dr.	Gilberts, IL 60136	Bid Bond	\$150,249.00	-47.37%	· · ·
Campanella & Sons, Inc.	39207 N Magnetics Blvd	Wadsworth, IL 60083	Bid Bond	\$158,356.30	-44.53%	-\$127,106.70
Engineer's Estimate				\$285,463.00		
Design	IDOT(2)	Contract Bidder	C:	ounty Engineer		
Finance	Bid Tab File	Resident Eng.	N	1gr Capital Prograr	nming	
Construction	Project File	Request By Mail				



Bid Tabulation

Project: Grass Lake Road Drainage

Section: 17-00059-12-ES

Description: Installation of new storm sewer

Item	Pay	Description	Quantity	Unit -	Eng Esti	mate	Berger Excavating Contractors		Campanella & Sons, Inc.		Copenhaver Construction	
No.	Code	Description			Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price
1	20400800	FURNISHED EXCAVATION	45.0	CU YD	\$75.00	\$3,375.00	\$1.00	\$45.00	\$130.75	\$5,883.75	\$25.00	\$1,125.00
2	20800150	TRENCH BACKFILL	85.0	CU YD	\$100.00	\$8,500.00	\$60.00	\$5,100.00	\$88.25	\$7,501.25	\$45.00	\$3,825.00
3	21001000	GEOTECHNICAL FABRIC FOR GROUND STABILIZATION	4.0	SQ YD	\$250.00	\$1,000.00	\$11.00	\$44.00	\$15.00	\$60.00	\$30.00	\$120.00
4	21301084	EXPLORATION TRENCH 84" DEPTH	20.0	FOOT	\$250.00	\$5,000.00	\$50.00	\$1,000.00	\$160.00	\$3,200.00	\$40.00	\$800.00
5	21400100	GRADING AND SHAPING DITCHES	106.0	FOOT	\$55.00	\$5,830.00	\$40.00	\$4,240.00	\$30.00	\$3,180.00	\$27.00	\$2,862.00
6	28000305	TEMPORARY DITCH CHECKS	35.0	FOOT	\$40.00	\$1,400.00	\$22.00	\$770.00	\$23.00	\$805.00	\$21.00	\$735.00
7	28100105	STONE RIPRAP, CLASS A3	4.0	SQ YD	\$500.00	\$2,000.00	\$400.00	\$1,600.00	\$1,185.00	\$4,740.00	\$210.00	\$840.00
8	48101200	AGGREGATE SHOULDERS, TYPE B	10.0	TON	\$1,000.00	\$10,000.00	\$85.00	\$850.00	\$296.00	\$2,960.00	\$121.00	\$1,210.00
9	50105220	PIPE CULVERT REMOVAL	59.0	FOOT	\$65.00	\$3,835.00	\$25.00	\$1,475.00	\$61.15	\$3,607.85	\$29.00	\$1,711.00
10	54213663	PRECAST REINFORCED CONCRETE FLARED END SECTIONS 18"	1.0	EACH	\$3,200.00	\$3,200.00	\$2,200.00	\$2,200.00	\$2,780.00	\$2,780.00	\$1,700.00	\$1,700.00
11	550A0380	STORM SEWERS, CLASS A, TYPE 2 18"	156.0	FOOT	\$375.00	\$58,500.00	\$95.00	\$14,820.00	\$128.15	\$19,991.40	\$160.00	\$24,960.00
12	550A0410	STORM SEWERS, CLASS A, TYPE 2 24"	58.0	FOOT	\$400.00	\$23,200.00	\$190.00	\$11,020.00	\$294.50	\$17,081.00	\$173.00	\$10,034.00
13	59300100	CONTROLLED LOW-STRENGTH MATERIAL	2.0	CU YD	\$1,000.00	\$2,000.00	\$500.00	\$1,000.00	\$1,930.00	\$3,860.00	\$1,000.00	\$2,000.00
14	60108104	PIPE UNDERDRAIN, TYPE 1, 4"	219.0	FOOT	\$55.00	\$12,045.00	\$55.00	\$12,045.00	\$53.55	\$11,727.45	\$67.00	\$14,673.00
15	60200805	CATCH BASINS, TYPE A, 4'-DIAMETER, TYPE 8 GRATE	3.0	EACH	\$6,750.00	\$20,250.00	\$4,500.00	\$13,500.00	\$3,885.00	\$11,655.00	\$4,300.00	\$12,900.00
16	60500050	REMOVING CATCH BASINS	2.0	EACH	\$1,000.00	\$2,000.00	\$950.00	\$1,900.00	\$450.00	\$900.00	\$1,100.00	\$2,200.00
17	LC200501	MAINTENANCE OF TEMPORARY EROSION CONTROL SYSTEMS	3,560.0	UNIT	\$1.00	\$3,560.00	\$1.00	\$3,560.00	\$1.00	\$3,560.00	\$1.00	\$3,560.00



Bid Tabulation

Project: Grass Lake Road Drainage

Section: 17-00059-12-ES

Description: Installation of new storm sewer

Item	Pay	Description	Quantity	Unit	Eng Estimate		Berger Excavating Contractors		Campanella & Sons, Inc.		Copenhaver Construction	
No.	Code		Quantity	Oille	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price
18	LC500228	GRATED CULVERT END SECTIONS, 24" DIAMETER	1.0	EACH	\$5,500.00	\$5,500.00	\$2,500.00	\$2,500.00	\$3,635.00	\$3,635.00	\$2,300.00	\$2,300.00
19	X0326458	PAVEMENT REPLACEMENT, SPECIAL	22.0	SQ YD	\$1,000.00	\$22,000.00	\$350.00	\$7,700.00	\$900.00	\$19,800.00	\$215.00	\$4,730.00
20	X0326694	PLUG EXISTING STORM SEWERS	2.0	CU YD	\$600.00	\$1,200.00	\$500.00	\$1,000.00	\$1,307.50	\$2,615.00	\$1,500.00	\$3,000.00
21	X0327301	RELOCATE EXISTING MAILBOX	2.0	EACH	\$500.00	\$1,000.00	\$775.00	\$1,550.00	\$240.00	\$480.00	\$400.00	\$800.00
22	X0327890	DRIVEWAY REMOVAL AND REPLACEMENT	46.0	SQ YD	\$458.00	\$21,068.00	\$110.00	\$5,060.00	\$141.10	\$6,490.60	\$59.00	\$2,714.00
23	X2800500	INLET PROTECTION, SPECIAL	3.0	EACH	\$400.00	\$1,200.00	\$325.00	\$975.00	\$250.00	\$750.00	\$70.00	\$210.00
24	X7010216	TRAFFIC CONTROL AND PROTECTION (SPECIAL)	1.0	L SUM	\$55,000.00	\$55,000.00	\$25,000.00	\$25,000.00	\$15,285.00	\$15,285.00	\$49,000.00	\$49,000.00
25	XX006343	SEEDING (COMPLETE)	320.0	SQ YD	\$40.00	\$12,800.00	\$29.00	\$9,280.00	\$18.15	\$5,808.00	\$7.00	\$2,240.00
Bid Total				\$285,463.00		\$128,234.00		\$158,356.30		\$150,249.00		



Return Bid Details

Project: Grass Lake Road Drainage

Section: 17-00059-12-ES

Description: Installation of new storm sewer

ltem	Pay	Description	Quantitu	itv Unit	Eng Estimate		Min Pid Prico	May Pid Price	Avg. Bid Price	
No.	Code	Description	Quantity	Onit	Unit Price	Extnd. Price	Willi. Blu Price	IVIAX. DIU PIICE	Avg. blu Price	
1	20400800	FURNISHED EXCAVATION	45.0	CU YD	\$75.00	\$3,375.00	\$1.00	\$130.75	\$52.25	
2	20800150	TRENCH BACKFILL	85.0	CU YD	\$100.00	\$8,500.00	\$45.00	\$88.25	\$64.42	
3	21001000	GEOTECHNICAL FABRIC FOR GROUND STABILIZATION	4.0	SQ YD	\$250.00	\$1,000.00	\$11.00	\$30.00	\$18.67	
4	21301084	EXPLORATION TRENCH 84" DEPTH	20.0	FOOT	\$250.00	\$5,000.00	\$40.00	\$160.00	\$83.33	
5	21400100	GRADING AND SHAPING DITCHES	106.0	FOOT	\$55.00	\$5,830.00	\$27.00	\$40.00	\$32.33	
6	28000305	TEMPORARY DITCH CHECKS	35.0	FOOT	\$40.00	\$1,400.00	\$21.00	\$23.00	\$22.00	
7	28100105	STONE RIPRAP, CLASS A3	4.0	SQ YD	\$500.00	\$2,000.00	\$210.00	\$1,185.00	\$598.33	
8	48101200	AGGREGATE SHOULDERS, TYPE B	10.0	TON	\$1,000.00	\$10,000.00	\$85.00	\$296.00	\$167.33	
9	50105220	PIPE CULVERT REMOVAL	59.0	FOOT	\$65.00	\$3,835.00	\$25.00	\$61.15	\$38.38	
10	54213663	PRECAST REINFORCED CONCRETE FLARED END SECTIONS 18"	1.0	EACH	\$3,200.00	\$3,200.00	\$1,700.00	\$2,780.00	\$2,226.67	
11	550A0380	STORM SEWERS, CLASS A, TYPE 2 18"	156.0	FOOT	\$375.00	\$58,500.00	\$95.00	\$160.00	\$127.72	
12	550A0410	STORM SEWERS, CLASS A, TYPE 2 24"	58.0	FOOT	\$400.00	\$23,200.00	\$173.00	\$294.50	\$219.17	
13	59300100	CONTROLLED LOW-STRENGTH MATERIAL	2.0	CU YD	\$1,000.00	\$2,000.00	\$500.00	\$1,930.00	\$1,143.33	
14	60108104	PIPE UNDERDRAIN, TYPE 1, 4"	219.0	FOOT	\$55.00	\$12,045.00	\$53.55	\$67.00	\$58.52	



Return Bid Details

Project: Grass Lake Road Drainage

Section: 17-00059-12-ES

Description: Installation of new storm sewer

Item	Pay	Description	Quantity	Unit	Eng Estimate		Min Rid Price	Max. Bid Price	Avg. Bid Price
No.	Code	Description	Qualitity	Oilit	Unit Price	Extnd. Price	Willi. Did Frice	IVIAX. DIG FIICE	71181 210 11100
15	60200805	CATCH BASINS, TYPE A, 4'-DIAMETER, TYPE 8 GRATE	3.0	EACH	\$6,750.00	\$20,250.00	\$3,885.00	\$4,500.00	\$4,228.33
16	60500050	REMOVING CATCH BASINS	2.0	EACH	\$1,000.00	\$2,000.00	\$450.00	\$1,100.00	\$833.33
17	LC200501	MAINTENANCE OF TEMPORARY EROSION CONTROL SYSTEMS	3,560.0	UNIT	\$1.00	\$3,560.00	\$1.00	\$1.00	\$1.00
18	LC500228	GRATED CULVERT END SECTIONS, 24" DIAMETER	1.0	EACH	\$5,500.00	\$5,500.00	\$2,300.00	\$3,635.00	\$2,811.67
19	X0326458	PAVEMENT REPLACEMENT, SPECIAL	22.0	SQ YD	\$1,000.00	\$22,000.00	\$215.00	\$900.00	\$488.33
20	X0326694	PLUG EXISTING STORM SEWERS	2.0	CU YD	\$600.00	\$1,200.00	\$500.00	\$1,500.00	\$1,102.50
21	X0327301	RELOCATE EXISTING MAILBOX	2.0	EACH	\$500.00	\$1,000.00	\$240.00	\$775.00	\$471.67
22	X0327890	DRIVEWAY REMOVAL AND REPLACEMENT	46.0	SQ YD	\$458.00	\$21,068.00	\$59.00	\$141.10	\$103.37
23	X2800500	INLET PROTECTION, SPECIAL	3.0	EACH	\$400.00	\$1,200.00	\$70.00	\$325.00	\$215.00
24	X7010216	TRAFFIC CONTROL AND PROTECTION (SPECIAL)	1.0	L SUM	\$55,000.00	\$55,000.00	\$15,285.00	\$49,000.00	\$29,761.67
25	XX006343	SEEDING (COMPLETE)	320.0	SQ YD	\$40.00	\$12,800.00	\$7.00	\$29.00	\$18.05
		Bid Total				\$285,463.00			